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Find the derivative:  ሺ1ሻ   ݂ሺݔሻ = ଽݔ + ଶݔ8 + ݔ + 9   
 

ሺ2ሻ   ݂ሺݔሻ = ଶݔ18 + ଷݔ9 − ଻ݔ4 − 91 
 

ሺ3ሻ   ݃ሺݔሻ = ଷݔ80 − ଶݔ4 + ݔ3 + 7 
 

ሺ4ሻ   ݂ሺݔሻ = ଶ଴ݔ5 + ଵଽݔ8 − ଶݔ4 + 82 
 

ሺ5ሻ   ݃ሺݔሻ = ଶݔ + ݔ6 + ݔ4 − 25  

 

ሺ6ሻ   ݂ሺݔሻ = ଷݔ9 + ଶݔ4 − ݔ99  
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ሺ7ሻ   54ݔ + ݔ29 + ݔଶ3ݔ84  

 

 

ሺ8ሻ   ݂ሺݔሻ = ସݔ81 − ଶݔ9 + 9ݔ4 − ݔ     
 

 

ሺ9ሻ   ݂ሺݕሻ = ଷݕ + ݕ18 + ݕ9  

 

 

ሺ10ሻ  ܩሺݔሻ = ଽݔ19 + ଼ݔ7 − ଻ݔ10 + ଶݔ5 − 8 
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Answer Key ሺ1ሻ   9଼ݔ + ݔ16 + 1 ሺ2ሻ   36ݔ + ଶݔ27 − ଶݔ଺ ሺ3ሻ   240ݔ28 − ݔ8 + 3 ሺ4ሻ   100ݔଵଽ + ଵ଼ݔ152 −  ݔ8
ሺ5ሻ   2ݔ + ݔ6 − 25 − ଶݔ + ݔ6 + 4ሺݔ − 25ሻଶ  

ሺ6ሻ   18ݔଷ + ଶݔ4 + ଶݔ99  

ሺ7ሻ   2ሺ126ݔଶ − 1ሻ9ݔଶ  

ሺ8ሻ   324ݔଷ + ݔ18 + 49 − ݔ + ଷݔሺ81ݔ + ݔ9 + 4ሻሺ9 − ሻଶݔ  

ሺ9ሻ   2ݕଷ − ଶݕ9  

ሺ10ሻ   171଼ݔ + ଻ݔ56 − ଺ݔ70 +  ݔ10
 

 


